Exam Advanced Machine Learning
28 October 2021, 18.45-21.30

This exam consists of 6 problems, each consisting of several questions. All answers should
be motivated, including calculations, formulas used, etc. The use of a calculator is not
allowed.

Question 1: Short questions
Please provide an argument for your answer on the following questions.

(@)

(b)

(©)
(d)

(e)

(f)

Suppose that we have two datasets that are sampled from the same distribution.
Dataset A has 5,000 observations, and dataset B has 10,000 observations. We ran-
domly construct a train set with 80% of the data, and a test set with the remaining
20%. Draw, for each dataset, a curve for the training error and a curve for the test
error as a function of the model complexity. Thus, you will have 4 curves where the
x-axis represents the model complexity and the y-axis the error. Clearly mark all your
curves.

You want to solve a classification task. You first train your model on 20 samples. The
training converges, but the training loss is very high. You then decide to train the
model on 10,000 samples. Will your approach fix the problem? If yes, explain the
most likely results when training with 10,000 samples. If not, give a solution to fix the
problem.

Explain the purpose of using an 1 x 1 convolution in a convolutional neural network.

If your input image is 64 x 64 x 16, how many parameters are there in a single 1 x 1
convolution filter (including bias)?

You come across a non-linear activation function g that passes 1 if its input is non-
negative, else evaluates to 0. Thus,

1, z>0,

g(z):{o 2 <0. M)

A friend recommends you to use this non-linearity in your convolutional neural net-
work with the Adam optimizer. Would you follow his advice? Explain your answer.

A popular model used for sentiment classification is an LSTM model. This model in-
puts word vectors to the LSTM model at each time step, and uses the last hidden state
vector to predict the sentiment label. An alternative method for sentiment classifica-
tion is the bag-of-vectors model. In this model, the average of all the word vectors
in a sentence is used to predict the sentiment label. Name at least one benefit of the
LSTM model over the bag-of-vector model for sentiment classification.



Question 2: Neural networks

The following neural network in Figure 1 has 3 units. The neural network operates almost
as a regular neural network. Each unit takes a linear combination of the units of the pre-
vious layer, subtracts a bias term, and then applies an activation function g to obtain the
activated units (i.e., a1, ag, or as). The activation function is a negative sigmoid function,
ie, g(z) = —1/(1 + e~#), which differs from the standard sigmoid function by a minus
sign. Additionally, this network uses a non-standard error function E = 1(2y — 2t)?, with t

the target value and y = a3 the output of the neural network.

Figure 1: Neural network architecture.

(a) Using the initial weights provided below, and the input vector (z1,z2) = (2,0.5),
compute the output at each neuron a4, as, and a3 after forward propagation. Use the

negative sigmoid values given in the table at the end of this question.

weight | b1 | wir | wia | wis | by

value | 0.5

(b) Calculate the derivative of g(z) with respect to z.

(c) Calculate OF /0wns.
(d) Calculate OF/dw;.

IO RERIE)
-3.00 -0.05 | 0.25 -0.56
-2.75 -0.06 || 0.50 -0.62
250 -0.08 || 0.75 -0.68
225 -0.10 || 1.00 -0.73
-2.00 -0.12 || 1.25 -0.78
-1.75 -0.15 || 1.50 -0.82
-1.50 -0.18 || 1.75 -0.85
-1.25 -0.22 || 2.00 -0.88
-1.00 -0.27 || 2.25 -0.90
-0.75 -0.32 || 250 -0.92
-0.50 -0.38 || 2.75 -0.94
-0.25 -044 || 3.00 -0.95
0.00 -0.50 || 3.25 -0.96




Question 3: Graphical models
The following figure shows a graphical model over nine binary-valued variables A4, ..., I.
We do not know the parameters of the probability distribution associated with the graph.

Figure 2: Graphical model.

(a) Write the expression for the joint probability P(A, B,C, D, E, F,G, H,I) of the net-
work in its reduced factored form.

(b) Which of the following conditional independence assertions are true?
i)A1l B
iiy)AlLC
iii)Al D|E
ivyAILIT|FE
v)B1 C|I
vi)D Il I|{E,G,H}

(c) Draw the graphical model that corresponds to IP(A4, B,C, D, E, F,G, H) given in its
reduced form by: P(A|B,C,E)P(B|D,E)P(C|F,H)P(D|G)P(E|G,H)P(F|H)
P(G)P(H).

Question 4: Hidden Markov Models (HMMs)

A magician has two coins, each of which has an unknown type. The coins can either be
fair coins (50/50 odds of heads versus tails), or trick coins that either (1) have heads on
both sides, or (2) have tails on both sides. A priori, each coin is equally likely to be any of
the three possible types. At every time step, the magician randomly picks a coin (without
showing you which one was selected), flips it, and shows you the result. However, unfortu-
nately, the magician only shows you the coin very briefly, and 10% of the time you make a
mistake when you observe the true side of the coin (e.g., you see heads when it was actually
tails).

(a) Model this process as a Hidden Markov Model. Specify all the parameters (7, 4, ¢).
Think carefully about the states in the model.

(b) As you watch the magician, you observe the following sequence A = (Heads, Tails,
Heads, Tails) in the first four trials. On a different occasion, you observe sequence B
= (Heads, Heads, Heads, Heads) in the first four trials. Which sequence is more likely
to occur? Provide an argument/calculation to your answer.



(c) Consider the Markov model that would result if you ran the process above and ob-
served heads for the first 20 times. What is the long-run probability that you will
observe heads and tails in this case? Support your answer with an argument.

Question 5: Logistic regression

You are building a classification model to distinguish between labels from a synthetically
generated dataset. More specifically, you are given a dataset (z(),y(V)), where (¥ € R and
y® € {0,1} fori = 1,...,m. The data is generated with the following scheme.

X|Y =0~ N(2,2)
X|Y =1~N(0,3)

Thus, X|Y = 0is generated according to a Normal distribution with mean 2 and variance 2,
where X|Y = 1is generated according to a Normal distribution with mean 0 and variance
3. You can assume that the dataset is perfectly balanced between the two classes.

(a) As a baseline, you decide to use a logistic regression model to fit the data. Since
the data is synthesized easily, you can assume you have infinitely many samples (i.e.,
m — 00). Can your logistic regression model achieve 100% training accuracy? Explain
your answer.

(b) After training on a large training set of size M, your logistic regressor achieves a
training accuracy of 7. Can the following technique, applied individually improve over
this training accuracy? Please justify your answer.

(i) Adding a regularizing term to the binary cross-entropy loss function for the lo-
gistic regressor.
(if) Standardizing all training samples to have mean zero and unit variance.
(iif) Using a 5-hidden layer feedforward network without non-linearities in place of
logistic regression.
(iv) Using a 2-hidden layer feedforward network with ReLu in place of logistic re-
gression.

Question 6: Gradient descent

We are considering a supervised machine learning problem where ¢ € R denotes the labels,
and x € R¢ denotes the data. In our model, we denote by w € R¢ the weight vector. We
have m data points in total, and we use regularization with parameter A > 0. Define the
loss function £(w) by

36, iflg <1,

L =
(w) €] — 1, otherwise.
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The error function / is known as the Huber function, and is less strict than the squared error
function.

(a) Calculate the gradient of £(w) with respect to w.
(b) Write out a stochastic gradient descent learning algorithm for minimizing £(w).

(c) After some careful thoughts, you decide to use gradient descent with momentum.
Explain how momentum speeds up learning compared to standard gradient descent.
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